
6 ASSEMBLY AND PARTS ALBUM

No.   Part.No Description Qty. No.   Part.No Description Qty. No.   Part.No Description Qty. No.   Part.No Description Qty. No.   Part.No Description Qty. No.   Part.No Description Qty.

Bolt M6 12

Door board (2) assembly

Door board (3) assembly

Fixing plate

Waterproof cover

Front column cover board welding

Hinge (1)

Front column welding

Cover board

Handle welding

Front cover board

Engine assembly

Motor assembly

Carbon brush

Carbon brush subassembly

Back-end cover

Front-end cover

Bolt

Bolt

Bolt

Bolt

Screw

Screw

Automatic voltage regulator

Stator assembly

Bolt 

Fan

Bearing retaining ring

Rotor assembly

Bolt

Air line welding piece of door board (2)

Junction box cover board

Meter door welding

Door lock

Organic glass

Nut M6

Left supporting board of oil tank

Oil tank assembly

Oil mass sensor

Oiling filter screen

Oil Tank cover

Return oil pipe of tank

Clip 13

Clip 9

Clip

Right supporting board of tank

Drain oil pipe of tank

Drain fuel pipe welding

Delivery oil pipe of oil tank

Drain water pipe

Center pillar assembly

Clip 51-70

Oil Draining Pipe

Air Cleaner Assembly

Exhaust air pipe Gasket

Flexible exhaust air pipe assembly

Oil tube

Oil tube

Outlet water pipe of water tank

Drain water pipe of water tank

Bolt

Gasket

Antifreeze pot

Inlet water pipe of water tank

Radiator Assembly

Clapboard welding

Muffler assembly

Muffler welding piece

Hinge (2)

Back boarding welding

Cover board welding of back boarding

Gasket of exhaust pipe (asbestos)

Decorative board of top cover

Air line welding piece of door board (1)

Door board (1) assembly

Door board (4) assembly

Air road welding piece of door board (4)

Cathode wiring of battery

Anode wiring of battery

Butterfly shaped nut M6

Battery

Pressed board of battery

Pressed board bolt

Cotter pin 3

Cartwheel

Wheel and axle welding piece

Right damping cushion of engine

Left damping cushion of engine

Damping cushion (1) of generator

Damping cushion (2) of generator

Chassis welding piece

Relay bottom board

Preheat relay

Four line fuse box

Small type relay

Breaker bracket

Breaker

Nut M4Nut

Nut M4

E-type receptacle

Screw M4 14

Fuse seat

Urgent stop button

Oil meter

PVC Label

Output board

Suspension right backing board of diesel engine

Suspension left backing board of diesel engine

Black

Red

Bolt

Bolt

Bolt

Bolt

Bolt

Door lock assembly

Screw

Key

Intelligent  display screen

Meter assembly

Spring washer

Spring washer  8

Plain cushion  8

Plain cushion  

Top board cover welding

Intelligent control module

Plain washer  20

Monitor location assembly

Instrument board

Lock body

Overflow pipe of water tank

Vent pipe cap

Clip 20

Air filter fixed board

Air filter fixed board  welding

Vent pipe of air filter 

Engine inlet pipe

Electric pump outlet tube

Electric fuel pump

Electric pump inlet tube

Water oil separator assembly


